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foafaa et - g9\ == (First Phase)
JIH T~ FEE AfTeia qO®e (Administrative Aptitude Test)
Part (A)

T AT YO TIT X q T = YO AT
1.1 ST - Jae qA7 fqeaepr i, ArAiTE T i e

1.2 sfqemE, WEHa T QT SFaeT
1.2.1 feaer yq@ Tqerfas weames

1.2.2 STAHT UTEAHTA TAT HARAR] ASTAIAE, ANH TF ATHNSE AR qh dadr T
e AT SaeTd

1.2.3 SUTAHT ATbaeAb AT HUH AAATRIATES

1.2.4 SOTAHT TATAT &H, FEBIA, ST, AT, Alfecd T Fdl

1.3 AT T MMAT - Fqar, AST{ceh SAaedT, ATIBAT e Fqaret /[ aoaes T Farerehr
T AR [TREHRA

1.4 et faera
1.4.1 SIHT AFEH qEATaREE (FHN, SUNT, IR, Thed, IaEnd, d=9r, e, @,
fergre)
1.4.2 FIAH AATHGT FEEG ASAT, A/ ATGAeeH] qe=arad, dig, faea qaar 5
T qare / favaes
1.4.3 Fureresr faeas e e idtataes

1.5 favir foreprr, arararvi qiikfeafd, qurawir g=emor, Sfaw fafaudn, serarg afady, safers,
TRV, JATETH, TIUUI, JTehleh Fd qAT AMLT FAFIREoh! T TrIedl ATHTY FATAEE
1.6 &= 3 gfata
1.6.1 YHG AIHH =TT T AMTHRES, Fdg I3 T fawepl TRTT
1.6.2 fasm T gfaferel ATHE Sia" ¥ HSTHT I 74719
1.6.3 AHIT, JMU[, TEA T I AR ATHR SATARR
1.7 SRAINET AIHAT 9T SraRined e/ ge
1.7.1 9% 959 Aee qdT AN, Gk AT AHTH, GIh AT, T, B, STHAT,
TSREATS ¥ STATH AT HAHEEHT TITAR] T
1.7.2 SIh ACHT YU, STEUIETd AaeTIT T AT

1.8 Ui T J=RIGT Aed® TUAHIE AT qAT TAMAH TAERee @ Sed- TSI,
TTHINE, TIER(qH, AT, IoHH, GeAhs, [&IH, WR, Fal, Afecd T MG Amad
Hed Ul Afhed q4T fa=R#es
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YiTARTaTcHe® qRETeT AR H
(In English)
Paper I: -Administrative Aptitude Test
Part (A)
1. General Awareness 50 x 1= 50 Marks

1.1 Geography - physical, social and economic geography of Nepal and the World
1.2 History, Culture and Social System
1.2.1 Major historical events of the World
1.2.2 Political, economical and socio-cultural aspects of ancient, medieval and modern
Nepalese history
1.2.3 People's Movements for democracy in Nepal
1.2.4 Prevalent religions, culture, ethnicity, languages, literature and art of Nepal
1.3 Polity and Governance — constitution, political system, right based issues and evolution of the
Nepalese Administrative System
1.4 Economic Development
1.4.1 Infrastructure development in Nepal (agriculture, industry, trade, tourism,
transportation, communication, education, health and electricity)
1.4.2 The Nepalese economic issues relating to planning, mobilization of resources, growth,
development and employment
1.4.3 Nepal's economic interaction with the World
1.5 General Issues on sustainable development, environmental ecology, ecological preservation,
bio-diversity, climate change, demography, urbanization, settlement, pollution, conservation of
natural resources and national heritage
1.6 Science and Technology
1.6.1 Major scientific discoveries and inventions, famous scientists and their contributions
1.6.2 Impact of science & technology in human life and society
1.6.3 General information on evolution, heredity, health and diseases
1.7 International Affairs and International Institutions
1.7.1 Nepal's relations with the SAARC member countries and other countries such as China,
United States of America, United Kingdom, Russia, France, Germany, Switzerland and
Japan
1.7.2  UN System, multilateral arrangements and Nepal
1.8 Major Events and Current Affairs of National and International Importance; such as
political, social, cultural, economic, scientific, sports, books, prizes/rewards, arts, literature and

music as well as noted personalities and thinkers
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Part (B)
2. Aptitude Test 30 x 1 = 30 Marks

2.1 Verbal reasoning such as series, analogy, classification, coding-decoding, insert the missing
character, common property, matrices, direction and distance sense test, ranking order,
assertion and reason, induction, deduction, courses of action, etc 6 x 1 =6 Marks

2.2 Non-verbal reasoning such as series, analogy, classification, Venn diagrams, matrices,
construction of squares and triangles, and figure formation and analysis, dot situation, water
Images, mirror images, embedded figures, etc. 6 x 1 =6 Marks

2.3 Quantitative aptitude such as arithmetical reasoning / operation, percentage, fraction, decimal,

ratio, average, loss, profit, date/calendar, time and work, etc. 6 x 1 =6 Marks
2.4 General mental ability, logical reasoning and analytical ability 6 x 1 =6 Marks
2.5 Data interpretation - charts, graphs, tables, data sufficiency 6 x 1 =6 Marks
Part (C)
3. English Language Competence Test 20 x 1 =20 Marks
3.1 Comprehension: 5 x 1=5 Marks

Questions will be asked based on the passage given. The questions will try to accommodate the
following areas:

- Fact finding, Inferential, Core theme, True/false identification, Issues raised and
Language based

3.2 Vocabulary: 7 x 1 =7 Marks
Questions will be asked to assess their grasp on the English language vocabulary. The
questions will be of the following nature:

- Meaning of the words (literal /figurative/contextual), Single word for expressions,
Synonyms/antonyms, Derivatives and Homonyms/homophones

3.3 Syntactic ability: 8 x 1 =8 Marks
Questions will be asked to assess the syntactic ability of the candidates. The questions will be
based on the following categories:

- Agreement, Tense aspect, Parallel structures, Clauses, Modifier, Conditionals, Phrasal
expressions, Shifts (tense, number, person), Transformations, Varieties, Prepositions /
conjunctions and Parts of speech

---The end---

Note: - This above English Language Competence Test syllabus is devised for assessing the
proficiency of the English language of candidates. With the view to assess the candidates’
language competence, the syllabus aims:

e to test the understanding of their language through reading comprehension,
e to map the range of their vocabulary,
e to examine their syntactic ability.

The nature and standard of questions in English Language Competence Test will be such
that an educated Class XII level person will be able to answer them without any specialized study.
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TR - YYH 97 WG A AR AT qaaqarel Part (A) F1 IgdhdAH THleeddld
garaead Level | @1 <o gfdqerd T Level |l %1 ¥o giqerd T AHTTER 9978s = |
Table of Specification

No. Specification
Unit Contents Title of Level | | Level Il Remarks
No. items | (60%) (40%)
1; Wﬁ e < 5 2 Level | =T %0
- 14 10 gfqera ¥ Level
1.3 | EA9gta T e 6 %1 Yo qRyer
1.4 | sfde faerg 6
1.5 | fait faeer, arara}ei oikfei,.... 6
1.6 | fasm ¥ ity 6
17 qRINGT  WHeT  qur Sasined 6 Level | T %0
C | g/ 16 10 gfeera 7 Level
T T ARRINET AeaH Il %1 ¥o giqerd
1.8 | qHIMWIE HIAT qIqT TAHAH 8
Tiafatres
Total 50 30 20

Level I Questions
(AR faFeaHTT AU ATHT dgdehicds JIes)

Level 11 Questions

(@R vaT faspeq afe faded g7 T dR AR fahead T YA U dgadhieqd W@EIHl a¥ [Sh-aAi5eF,
SATSIHATSH, @I 313 94, FRI T TAE THId Gedes, AHeal Sgarsd JITes)

YIH U QT GAAATH HHAT YRAEe
Sample Questions: Paper |
Part A - General Awareness

Level I questions

1. T \ewr sraee arg (Trade winds) Fal qreeg, 7
A) 73T wfa
B) %9 &% T[E &9 HI
C) #adti~e® Her@r R (Atlantic Ocean) @1
D) sa"HuEd (Tropics) == ¥ sTHex @ (Equator) #T
Where does the Trade wind exist amongst the following?
A) Above Europe
B) Inthe Cape of Good Hope
C) Inthe Atlantic Ocean
D) Between Tropics and in the Equator

A) e (Patan) B) @rswret (Kathmandu) C) 9<h¥® (Bhaktapur) D) #ifdaz (Kirtipur)
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3. %A SAardiaeh AT ATH 1 {ear Aiawg 7
A) THL 99T B) HAEA Y&l C)) ST ga9T D) e IFRIA
In which climate zone does the minimum difference in temperature exist?
A) Equator Zone B) Monsoon Zone C) Tropical Zone D) Equator Ocean

4, AT fedr fead gomratHe SR e, ST ¥ e a= 9 qg &9 srerr faar
A) TSI HA B) 0T Tt C) fer=egdr &1t D) HeAhTe
In which period there were the three levels of district administration i.e., Mauja, Praganna and
Jilla, existed in Nepal?
A) Panchayat Period B) Rana period C) Lichhavi period D) Malla Period

5. AP ATAHA T Tl TS & AT 7

A) efedmaraT B) dfae®a  C) gfaeria D) efaumsr
What is the name of the instrument through which sun can be observed?
A) Heliography B) Telescope C) Helescope D) Telegraphy

Level Il guestions
6. TAHI FITEE S, TAd & 84 AT ald 7
1. TeART Hifeteh STl HIHA ARMET STeirept AiwaR [MHITHT 2T T PSP TN &5 |
2. IHEl FHIIHAT e fedhg To7 TIaT IRFRIETA AT T °% 2 |
A) 172335 B) 1% 2 ad
C) 1 3% @ 2 Taq D) 1 7ed @¥ 2 3%
Find out whether the following statements are right or wrong?
1. Bricks and wood are used in the construction of the Pagoda style temple which is rendered as
the original style in Nepal.
2. Dhikur system, prevailing in the Thakali community, is a house for performing traditional dance.
A) Both 1 and 2 are right B) Both 1 and 2 are wrong
C) 1isright but 2 is wrong D) 1 is wrong but 2 is right

7. THE | T 11 AT SIET HAr3Tad ¥ Fiede FEl STk e |
Match Group | with Group Il and choose the correct answer from the code.

998 (Group) | g (Group) 11
a) Aristotle 1. Theory of surplus value
b) Socrates 2. The politics
c) Abraham Lincoln 3. Hemlock
d) Karl Marx 4. Slavery System
@< (Code)
a b c d
A) 4 1 2 3
B) 3 4 1 2
C) 2 3 4 1
D) 1 2 3 4
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8. A« U TeAHT T Fa1 WIHIC Iooi@ TIRUH B Ulediars wqTs (Assertion) ¥ feiars &Rl
(Reason) AT B | AT [GSUHI Statement X T FSeed! ATIRAT SiF IR Io{ed |
qA e (A) - [qc S TS 97 8T FolTehy, HErAT A9Rrdr aar @vmsa DNA Finger Printing
T3 faeaaHr e aqes, |
FRI (R) :— Wbt TEHIBITHT U 3, e, AT 3MMTe Forer=a sa9aes DNA Analysis &7 TRT qaie
3 |
A) 9915 (A) ¥ FRT (R) I 3% B T R (R) 991 (A) *T S =amen (explanation) &
B) 9T (A) T #R (R) 3 &% B T FROT (R) 9TE (A) *1 Sk =amen (explanation) &g
C) 9Ts (A) 3% § T &R (R) Tod &
D) 9rE (A) Tad § aR &R (R) 3% 3

In the following question, two statements are given, the first one is called ‘Assertion’ and another
is called ‘Reason”. Regarding the Statement given in the question, choose the right answer on the
basis of the following codes.

Assertion A: DNA finger printing has been a reliable means to find out the criminals determining
paternity, murder and rape.

Reason (R): Remaining evidence such as hair, saliva, sperm, etc, found during the spot
investigation, are sufficient for DNA analysis.

A) Both the 'Assertion’ and 'Reason' are right and the 'Reason’ is the correct explanation of the
‘Assertion’.

B) Both the 'Assertion’ and the 'Reason’ are right and the 'Reason’ is not the correct explanation of
the 'Assertion'.

C) 'Assertion’ is right but the 'Reason’ is wrong.

D) 'Assertion’ is wrong but the 'Reason’ is right.

9. da il HETAgETHT T TeT AR 3 |

1. a0 AfgpR FFEET HeTdd
2. wieen faeg g7 A9 YHRF TIHE IHAT TFwdT HeTai=g
3. ITAAT TG AT FT AAEAT AT ATHAASIAE FFeR AT TUG [qegehl Herdi=d
4, TJEA HeTad

SIRI<h HETird dN] U (Hide! ATa=AT doed 760 &9 FF Jel S 7

Nepal has been the party in the following conventions.
1. Convention on Child Rights
2. Convention on the Elimination of all forms of Discrimination Against Women
3. Convention against tortures and other severe inhuman or abusive behaviors or penalties.
4. Convention against slavery.

Which of the following order, on the basis of the date of the ratification is right?

A)4-3-2-1 B)4-2-3-1 C)2-3-4-1 D)1-2-3-4
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10. EFAFHAFT ATIRHT AAETE ST TTeh ALEED! FH & Fel al 7
A) W@, FaH, T, AT, TFEATT, ITATG, AR, AR
B) WM, Hifeawd, WuTd, ATciehl, SRTATSLl, AR, UTBEAH, AR
C) wifeawd, ard, A, 7uTd, AR, SITATGLT, ATMhEAT, AR
D) wifeawd, ST, Hreiehl, sTATGel, T, ARIMALA, ITehEAT, TR
Considering the area of the SAARC nations, which of the following is the right order of those
nations, from the smallest to the largest?
A) Maldives, Bhutan, Nepal, Srilanka, Pakistan, Bangladesh, Afghanistan, India
B) Bhutan, Maldives, Nepal, Srilanka, Bangladesh, Afghanistan, Pakistan and India
C) Maldives, Bhutan, Srilanka, Nepal, Afghanistan, Bangladesh, Pakistan, India
D) Maldives, Bhutan, Srilanka, Bangladesh, Nepal Afghanistan, Pakistan, India.

11. Sirer faarHT (Matchings) d@el &1 =ife & & 7
Matching Group I with Group Il, which of the following is correct?
g7e(Group) | Tqe (Group) Il

a) ftmar (Africa) 1. fauwarer ®wereer (Continent of Extremes)
b) Iz (Europe) 2. F@r #ereel (Dark continent)
C) ¥«r=T (Savana) 3. &&w® grAr (Roof of the world)
d) wfex (Pamir) 4. HERS! Mg (Zoo of the world)
5. Uragea! aiq 9raEd (Peninsula of Peninsulas)
A) a-2, b-1, c-3,d-5 B) a-1, b-5, c-4, d-3
C) a-2, b-5, c-4, d-3 D) a-1, b-5, ¢c-3, d-4

12. ffated ®aqes I fg=mr e

1
2.
3. YHeT T@HT Tl FE T &g |
4. g q feilr TemvaAT ¥ fAeadr aHT W U |
A1l IfeAtaa FaAseHT &7 (5% &1/ g 7
A) 1,2 73HH B) 2 |1
C) 2,374+ D) 2339
Think about the following statements:
1. The earth moves from east to west.
2. The earth moves from west to east.
3. The Equator is the hottest.
4. Ineach 1 degree longitude, the time different by four minutes.
Which of the above mentioned statements, is /are correct?
A) Only 1,2 and 3 B) Only 2
C) Only2,3and 4 D) Only 2 and 3
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13.

14.

Heh JAT ATANT
AYTTARI (TRRTSE, TRIMEA, AGTIRIGA T FEG A1), AU Jord 00, T A a1 | RE T&el Gar
YiTARTaTcHe® qRETeT AR H

[T FAAEs Hed FHF FHI9 3% gled, Sed |

A) TITHATHIEATE AAFARIER fares qr=" & A= |

B) =it shifrehl qRaTd TaTeiane TUHT foaT |

C) WT=I®l ASTHRITS dliged Hiied g 93 |

D) AR AT ATRATHT T 139%-9% %9 TEHE! FAafqars Mol I qa7 91 =g |

Choose the statement which is not correct among the following:
A) Magnacarta is rendered as the ancient document of human right development

B) Industrial revolution was started from Italy.

C) The state Revolution of France is also called Intellectual Revolution.
D) In the context of the Indian Independence Movement, the period from 1919 A.D. to 1947

A.D. is also known as the Gandhi Age.

Teh ASTHT Tehl [AFfarad e &l qadl T Fel Iu¥ Hede S ed |
Comparing the following Regional Centers established in the SAARC nations; choose the correct

answer from the code.

ez (Country) &9 %= (Regional Centre)
1. =urer (Nepal) i) Agricultural Centre (SAC)
2. s¥rareer (Bangladesh) i) Forestry Centre (SFC)
3. 9= (Bhutan) iii) Energy Centre (SEC)
4, drferEr (Pakistan) iv)  Tuberculosis Centre (STC)
#< (Code)

A) 1-iii, 2-iv, 3-i, A4l
B) 2-i, 3-ii, 4-iii, 1-iv
C) 3-ii, 41,  1l-iv, 2-iii
D) 4-iv, 1-iii, 2-ii, 3-i
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Part (B)
Sample Questions of Aptitude Test

Verbal reasoning

1.

Find out the alternative which will replace the question mark.
O,T,T,FFSSE,(@®

A) E B) N C)O D)T
'Reading’ is related to 'knowledge' in the same way as "Work' is related to:
A) Money B) Engagement C) Employment D) Experience

In the following find out the alternative which will replace the question mark.

Parts : Strap :: Wolf : ?

A) Fox B) Animal C) Flow D) Wood

If TABLET is coded as UACMET in a certain language, then how is CAPSULE written in that
code?

A) BAORUKE B) DAQTUME C) BAQRUKE D) DAOTUME
Choose the word which is different from the rest.
A) Anger B) Anxiety C) Feeling D) Joy

The houses of A and B face each other on a road going north-south. A’s being on the western side.
A comes out of his house, turns left, travels 5 m, turns right, travels 12 m to the front of D’s house.
B does exactly the same and reaches the front of C’s house. In this context, which one of the
following statements is correct?

A) C and D live on the same street.

B) C’s house faces south.

C) The houses of C and D are less than 30 m apart.
D) None of the above

If the 1st & 2nd , 3rd & 4th, 5th & 6th and so on are interchanged in the A to Z alphabetical series.
Then what is the fifteenth number?
A) N B) O C)P D)Q

Direction: In the following, two statements numbered | and Il are given. There may be cause and
effect relationship between the two statements. These two statements may be the effect of the same
cause or independent causes. These statements may be independent causes without having any
relationship. Read both the statements and answer as:

8.

A) If statement | is the cause and statement Il is its effect
B) If statement Il is the cause and statement | is its effect
C) If both the statements | and Il are independent causes
D) If both the statements | and Il are effects of independent causes

Statements:
I. There has been a high increase in the incidents of atrocities against women in the city during
the past few months.
I1. The police authority has been unable to nab the culprits who are committing crime against
women.
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9. What is missing letter?

Wm0
V|Z|WO

O|®O|m

A)H B)T C) K D) E

10. In a class of 45 students, a boy is ranked 20th. When two boys joined, his rank was dropped by
one. What is his new rank from the end?

A) 25" B) 26 C) 27" D) 28th

Non-verbal reasoning

11. Which figure should replace the question mark?

Ejjngiajialiulk A3

A B C D

12. What would replace the question mark (?) in figure 4.

Problem figures Answer figures
~ Ol 2 A BIDE
1 2 3 4 A B C D

13. What is the total number of triangles in the below grid?

LN N

A) 22 B) 23 C) 26 D) 27
14. Choose the figure which is different from the rest
ﬂDDGﬁ%ﬁﬁ
OO0 AD OA J

A B C D
15. Which of the following diagrams indicates the best relation between Examination, Questions and

Practice?
¥ &
am @C‘ 0 .
A B C

D
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16. Choose the correct water image of the given figure (X) from amongst the four alternatives.

= B[R

() (A) ®B) ) D)

17. Complete the figure matrix.

N7

% Rﬁ\\ oG .00
N SNANANEN
C

A B

QE/

oo

- \o

18. Which three pieces below, when fitted together, will form a perfect square?

w X

A) WXY B) XYZ C) WXY D) WXZ

19. Find out the alternative figure which contains figure(X) as its part.

| EE R

(X) A B C D

20. Group the given figures into three classes using each figure only once.

SIAO
4 gh
[ VA7

7 i} 9

A)  135;269; 478
B) 234:;568; 9017
C) 135:268; 4709
D) 324:658; 79,1
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Quantitative aptitude
21. What number should come next?
8,6,9,2387, ..
A) 174 B) 226 C) 324 D) 429
22. What number should replace the question mark?
Ad. A8, /8
ATT9 N f928 A AN
/21 /36 /6 /24 /15 /12
A) 463 B) 453 C) 435 D) 47
23. A student on her first 4 tests received an average score of N points. If she exceeds her previous

24,

25.

26.

27,

28.

29.

30.

average score by 20 points on her fifth test, then what is the average score for the first 5 tests?
A) N + 20 B)N + 10 C)N+4 D)N+5

Find out the wrong number in the given sequence of numbers.
1,2,6,15,31,56,91

A) 6 B) 31 C) 56 D) 91
Baglung is located in Western Nepal and some Baglunge (people of Baglung) can speak Nepali
and some can speak Magar. If 70% of Baglunge speaks Nepali and 60% of Baglunge speaks Magar,

what is the minimum percentage of Magar speaking Baglunge that also speak Nepali?
A) 10% B) 15% C) 20% D) 30%

Ten teams are participating in a National Football League. If each team plays the other teams 2

times, the total number of games the League will play is ...
A) 45 B) 55 C) 90 D) 100

There are 21 juice bottles out of which 7 bottles are full, 7 are half-full and the remaining 7 are
empty to be divided amongst 3 friends equally. You don’t have any measuring device. After
dividing them (both bottles and juice) equally how much empty bottles each will get?

A) 0 B) 2 C)3 D) 4
Two numbers are in the ratio 5:4 and their difference is 10. What is the larger number?
A) 30 B) 40 C) 50 D) 60

A shopkeeper fills a basket with eggs in a such way that the number of eggs added on each
successive day is the same as the number already present in the basket. This way the basket gets
completely filled in 12 days. After how many days the basket was half (1/2) full?

A) 11 B) 10 C)9 D)6

If the seventh day of a month is three days earlier than Friday, what day will it be on the sixteenth
day of the month?

A) Sunday B) Tuesday C) Thursday D) Friday
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General mental ability, logical reasoning and analytical ability

31.

32.

33.

34.

K is heavier than N. M weighs less than N. L is heavier than M but lighter than N. Which of the
following statements is NOT true?

A) K weighs more than M. B) N weighs less than K.

C) M weighs more than K. C) M is the lightest of all.

What is the minimum number of different colours required to paint the figure given below such
that no two adjacent regions have the same colour?

A) 2 B)3 C)4 D)6
There are four houses on one side of a city street. Each house belongs to a different person who
lives in the house. The owners of the houses are A, B, C and D. Each owns one car and the colours
of these cars are white, red, blue and green. Furthermore:

1. D owns the white car

2. B's house is not at either end of the street

3. A owns the second house from the left

4. C owns the blue car
Which people own the red and the green cars?

A) Band A B) Cand B C)Dand A D) Cand D
A cube has six numbers marked 1, 2, 3, 4, 5 and 6 on its faces. Three views of the cube are shown
below:
1
4 . 6
6 S | /

What possible numbers can exist on the two faces marked (A) and (B), respectively on the cube?

@

A)2and 3 B)6and 1 C)land 4 D)3and 1
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If D is the brother of B, how B is related to C? To answer this question which of the statements
is/are necessary?

1. The son of D is the grandson of C.

2. Bis the sister of D.
A) Only 1 B) Only 2 C) Either 1 or 2 D) 1 and 2 both are required
Consider the following figure:

By
3
In the above figure, triangle represents girls, the square represents sports persons and the circle

represents coaches. Which portion in the figure represents girls, who are sports persons, but not
coaches?

A) 4 B) 2 C) 1 D) 3

Read the following passage and answer the 3 (three) items that follow:

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which 1652

were males. 1226 persons voted against the proposal of which 796 were males. 1425 persons voted for
the proposal. 196 females were undecided.

37.

38.

39.

40.

How many females voted for the proposal?

A) 430 B) 600

C) 624 D) 640

How many males were undecided?

A) 31 B) 227

C) 426 D) 581

How many females were not in favour of the proposal?

A) 430 B) 496

C) 586 D) 1226

Of the following statements, there are two statements both of which cannot be true but both can be

false. Which are these two statements?

All machines make noise.
Some machines are noisy.
No machine makes noise.
Some machines are not noisy.

o

A) land 2
B) 3and 4
C) 1and3
D) 2and 4
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Data interpretation

The following line graph gives the ratio of the amounts of imports to the amount of exports of the
certain country for the period from 1995 to 2001.

41.

42.

43.

44,

45.

Ratio of Value of Imports to Exports Over the Years

1.4 1.55 4

1.25 -

R

0.85 ¥ 005
0.65

HMNMWAUDSNOWOHERNWSELNO

PRORRORSEQ

19935 1996 1997 1998 1999 2000 2001

Tears

Using the above graph and answer the next 5 questions.
The imports were minimum proportionate to the exports of the Country in the year?

A) 1996 B) 1997 C) 2000 D) 2001

What was the percentage increase in imports from 1997 to 1998?
A) 72 B) 56 C) 28 D) Data inadequate

If the imports of the country in 1996 was Rs. 272 million, the exports from the country in 1996
was?

A) Rs. 370 million B) Rs. 320 million  C) Rs. 280 million D) Rs. 275 million

In how many of the given years were the exports more than the imports?
A) 1 year B) 2 years C) 3 years D) 4 years

The imports were maximum proportionate to the exports of the Country in the year?
A) 1996 B) 1997 C) 2000 D) 2001

Study the following table and answer the questions.

Classification of 100 Students Based on the Marks Obtained by them
in Paper | and Paper Il in an Examination.

) Marks out of 50
Subject
40 and above | 30 and above | 20 and above | 10 and above | 0 and above
Paper | 9 32 80 92 100
Paper Il 4 21 66 81 100
Average (Aggregate) 7 27 73 87 100
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46. What is the different between the number of students passed with 30 as cut-off marks in Paper-II

47.

48.

49.

50.

and those passed with 30 as cut-off marks in aggregate?

A)3 B) 4 C)5 D)6

If at least 60% marks in Paper- | are required for pursuing higher studies in science, how many
students will be eligible to pursue higher studies in science?

A0 B)9 C) 18 D) 32

The percentage of number of students getting at least 60% marks in Paper-11 over those getting at
least 40% marks in aggregate, is approximately?

A) 20% B) 27% C) 29% D) 30%

The number of students scoring less than 40% marks in aggregate is?

A)7 B) 13 C) 14 D) 27

If it is known that at least 23 students were eligible for a symposium on Paper-11, then the minimum

qualifying marks in Paper-11 for eligibility to symposium would lie in the range?
A) Below 20 B) 20-30 C)30-40 D) 40 -45

Directions for the following 5 (five) items:

Study the two figures given below and answer the five items that follow:

Figure 1: Number of Professors in selected
disciplines in a University by sex

4 - L] " 1 — Al L | o 1
0 PHYSICS NATRHEAATICS TODMISTAY - EOTANY  PSICHOLOGY CCONDMICS
. Male il Female
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Figure 2: Age of Physics Professors

51. How many Physics Professors belong to the age group 35 — 44?

A) 18 B) 16 C) 14 D) 12
52. Which one of the following disciplines has the highest ratio of males to females?
A) Physics B) Mathematics C) Chemistry D) Economics
53. What percentage of all Psychology Professors are females?
A) 40 % B) 50 % C) 60 % D) 70 %

54. If the number of female Physics professors in the age group 25 — 34 equals 25% of all the Physics
Professors in that age group, then what is the number of male Physics Professors in the age group
25347
A)?2 B) 3 C)6 D)9

55. If the Psychology professors in the University constitute 2% of all the professors in the University,
then what is the number of professors in the University?

A) 400 B) 500 C) 600 D) 700
Directions for the following 5 (five) items:
Study the table given below and answer the five items that follow:

Four students W,X,Y.Z appeared in four papers, LILIII and [V in a test.
Their scores out of 100 are Eh'ﬁ__n below:

T L Papers
Students | m il v
LW 60 | 81 | 45 55 |
X 59 | a3 | sl A |
Y 74 A 71 65 |
Z 72 |76 | A | 68 |

Where “A’ stands for absent
56. Which candidate has secured between 60-65% marks in aggregate?

A) W B) X C)Y D)z
57. Who has obtained the lowest average in aggregate?
A)W B) X Q)Y D)z
58. Who has obtained the highest average in aggregate?
A)W B) X Q)Y D)z
59. In which paper the lowest marks were obtained by the candidates?
Al B) I C) D) IV
60. Which candidate has secured the highest percentage in the papers appeared?
A)W B) X C)Y D)z
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Part (C): -
Sample Questions of English Language Competence Test

Set 1

Read the passage below and answer the questions that follow.

Passage |

Oak and Company
Richard Mabey
1 If tree families had family trees the oak would have one of the oldest and grandest of all. There

are more than 500 different species, and over the last million years they have spread, in various
shapes and forms, over most of the northern half of the earth. There are mountain oaks, swamp
oaks, evergreen oaks, weeping oaks, and oaks on windswept cliffs that never reach more than
two or three feet in height. One kind in Spain has such a spongy bark that it is used to make cork,
so there are soft oaks, too. But for most of us, oak means just one kind of tree: the tough, rugged
giant that has played such a part in history and legend, and been so important in the woodlands
of Europe and North America.

2 Perhaps we have been unfair to other trees, but the forest oaks deserve their fame. They are
hardy, essay-going, and not all fussy about whether they grow. They can reach a great age—
even a thousand of years, though most are cut down long before this. Their squat trunks and
twisted branches, looking like clenched wooden muscles, can stand up to the worst kinds of
weather.

3 On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It
is solid and hard-wearing, as good for furniture as it is for firewood. Before the days of steel and
concrete it made the frames of houses and ships. If we had to invent a new kind of timber it
would be hard to think up anything better.

4 Yet it isn’t just humans who find oaks the most useful of trees. Over the ages a huge number
of animals and plants have learned to live off—and in—the oaks. It is tempting to say that a full-
grown oak is like a house, but it is really more like a city—a whole community of creatures
travelling, working, eating, sleeping, singing, and bringing up young, on every part from the
topmost spring buds to the dead gash blasted out by a lightening flash.

Comprehension Questions: (5%1=5)

Choose the correct alternative.

1.

Which statement is closest to the main idea expressed in the first paragraph?
A. that there are varieties of oaks

B. that trees like oaks are family trees

C.  most people think that there is only one type of oak

D. the best kind of oak is found in Spain
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2. By giving example of a kind of oak found in Spain, the writer proves—

A. there are soft oaks

B. oaks can be useful

C.  cork manufacturing industry depends on oaks

D. our thinking of oak as a hard wood is wrong

3. All the statements below are true, except—

there are varieties of oaks

oaks primarily grow in Northern part of the earth

oaks have muscles like human beings

steel is used nowadays as building material for which oaks were used in the past

SO w>»

4,  The sentence “If we had to invent a new kind of timber it would be hard to think up anything
better” means—
A. We cannot invent a new kind of timber
B. Itis hard to think about a new timber
C. Iltis hard to find a better timber than oak
D. It’s time that we better think of a new timber than oak

5. Which statement best expresses the idea expressed in paragraph 4?
A.  Animals and birds make homes in oaks
B.  Sometimes lightening strikes oaks
C. Plants also depend on oaks
D. Not only humans but also animals and plants find oaks useful

Vocabulary Questions: (7x1=7)

6.  The closest meaning of the word “giant” in paragraph 1 is---
A. legendary huge humanlike beings
B. apowerful living being
C. abeing who has history and legend
D. strong and having a great size

7.  The phrase “stand up to” in paragraph 2 means—

A.  Standing erect

B. Rise toa erect position

C.  Support oneself

D. Beequally capable in strength and power
8.  “Bring up” in paragraph 4 means—

A. Raise children or babies

B.  Bring something from another place

C. Come closer to an object

D. Push something to a higher plane
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9.  The closest opposite meaning of the word “fussy” in paragraph 2 is—
A.  Selective

B. Choosy
C. Hardto please
D. Easy-going

10. Which grammar class (parts of speech) the “windswept” in paragraph 1 belongs to?
A. Noun
B. Verb
C. Adjective
D. Compound word

Syntactic Ability Questions: (8x1=8)

Choose the correct alternative.

11.  Which sentence indicates that John earned some money?
A. John nearly earned $ 100.
B. John earned nearly $ 100.
C. Bothaandb
D. None of the above

12.  Which sentence is best active version of the sentence “The computer disk was damaged by
electric shock™?
A.  Someone damaged the computer disk.
B.  The computer disk has been damages by the electric shock.
C. The electric shock damaged the computer disk.
D. Due to electric shock, the computer disk was damaged.

13.  Which one is the correct English expression?
A. John has been collecting stamps since 1996.
B. John collected stamps since 1996.
C. John had collected stamps since 1996.
D. Since 1996, John was collecting stamps.

14.  Which preposition completes the sentence “I expect a lot of guest ~ Christmas.
A in
B. at
C. on
D. for
15.  Which alternative completes the sentence “Last year, we visited St. Paul Cathedral in
Vienna.
A. that
B. the
C. a
D. none
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Set 2 - Sample Questions

Read the passage below and answer the questions that follow.

Passage |

Hibernation

Hibernation is one of the main adaptations that allow certain northern animals to survive long,
cold winters. Hibernation is like a very deep sleep that allows animals to save their energy when
there is little or no food available. The body functions of ‘true hibernators’ go through several
changes while they are hibernating. Body temperature drops, and the heart rate slows. For
example, a hibernating woodchuck’s body temperature drops by more than 30 degrees Celsius,
and its heart rate slows from 80 to 4 beats per minute! Other true hibernators include the jumping
mouse, little brown bat, eastern chipmunk, and several ground squirrels. Other animals, such as
the skunk and raccoon, are not considered true hibernators, as they wake up in the winter to feed,
and their body functions do not change as much. Since they only sleep for a little bit at a time,
the term dormancy or ‘light sleeping’ is used to describe their behavior. The largest animals to
hibernate are bears. Their heart rate may slow down from a usual 40 —50 beats per minute to 8-
12 beats per minute, but their body temperature changes very little, so they are able to wake up
quickly.

Hibernating animals have a special substance in the blood called hibernation inducement trigger,
or HIT. This substance becomes active in the fall, when the days become cooler and shorter.
When HIT becomes active, the animals start preparing for winter. Some animals store food so
that they can eat when they wake up, and some animals eat a lot in late summer and fall to add
excess fat to their bodies. This fat keeps them warmer and acts as a source of energy while they
are sleeping. Some animals also make changes to the places where they will sleep (dens). They
add leaves and grasses to keep them warm.

Questions: (5x1=5)

Choose the correct alternative.

1.

Why do animals hibernate?

A. Animals hibernate to survive long.

B.  Animals hibernate to adapt to the temperature.

C. Animals hibernate to save energy during the winter when there is little food for them to
eat.

D. Animals hibernate to take a deep uninterrupted sleep.

What changes occur in the functions of an animal’s body when it hibernates?

A.  An animal’s body temperature and its heart beat rise when it is hibernating.

B.  Ananimal’s body temperature drops and its heart beat quickens when it is hibernating.

C. Ananimal’s body temperature drops and its heart beat slows when it is hibernating.

D. Ananimal’s body temperature drops and its heart beat remain constant when it is
hibernating.
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3. Why are raccoons and skunks not ‘true hibernators’?
A. Because they wake up in the winter to eat. Additionally, the changes in the functions of
their bodies aren’t as great.
B.  Because they sleep for a little bit of time only.
C.  Because they do not wake up in winter to feed.
D. Because they feel hungry and get only light sleep.
4. When does HIT become active?
A. HIT becomes active whenever the days become cooler and shorter.
B.  HIT becomes active when the hibernating animals feel cold and are short of food.
C.  HIT becomes active when winter is in the full swing.
D. HIT becomes active in the fall, when the days are shorter and the temperature cooler.
5. How do animals prepare for hibernation?
A.  To prepare for hibernation, animals store food, eat a lot to add excess fat to their bodies
and add leaves and grasses to their dens to keep them warm while they sleep.
B.  To prepare for hibernation, animals store food and gather leaves and grasses to their dens
to keep them warm while they sleep.
C. To prepare for hibernation, animals store food and eat a lot to add excess fat to their
bodies.
D. To prepare for hibernation, animals eat a lot to add excess fat to their bodies and add
leaves and grasses to their dens to keep them warm while they sleep.
Vocabulary Questions: (7x1=7)
6.  One who owns, enjoys and controls anything as property is a
A. Lyric
B. Ruler
C. Possessor
D. Politician
7. “Discolor” literally means
A. Togive a wrong impression
B. Tostain
C. To mix many colors
D. Todisplace
8. What is it to give a formal public speech?
A. Toguzzle
B. Toorate
C. To proceed
D. Tomumble
9.  If something is not working normally, it is called

A

B.
C.
D.

Unfunctional
Functional
Dysfunctional
Malfunctional
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10. “Darkness” does not go together with
A. Dimness
B.  brightness
C. drabness
D. murkiness

Syntactic Ability Questions: (8x1=8)

Choose the correct alternative (the right word, phrase or clause) to complete the following
conversation.

11. I have trouble -------------------
A. toremember my password
B. toremembering my password
C. remembering my password
D. remember my password

12. The board meeting was held -------------- :
A. at Tuesday
B. on Tuesday
C. from Tuesday
D. in Tuesday

13. They will lose their reputation, --------------
A. if they do not replace the damaged product
B. if they did not replace the damaged product
C. if they have replaced the damaged product.
D. ifthey are replacing the damaged product.

14. Neither the manager nor the assistants ------------ :

A.  knows how the office building caught fire.
B.  know how the office building caught fire.
C.  have known how the office building caught fire.
D. were knowing how the office building caught fire.
15. They had better ---------- . They are becoming weaker and weaker day by day.
A.  Stop smoking
B.  Stopped smoking
C. stopping to smoke
D.  to stop smoking
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